
Quiz	No.	7	 Name	 	
ME	270	–	Summer	2024	-	Prague	
	
Given:	 Consider	the	truss	shown	below	with	the	external	

loadings	shown	on	joints	C,	H	and	K.	
	
Find:	 For	this	problem:	

a) Identify all zero-force members in the truss. 
b) Using the method of sections, determine the loads 

carried by members DH, BC and AC. Leave your 
answers in terms of F. Identify each member as 
either being in tension, in compression or carrying 
zero load. You will receive 4 bonus points for 
successfully solving for these member loads using 
only a single cut with your method of sections. 

For	this	problem,	use	the	following	parameters:	h	=	3b/4	and	
P	=	3F.	
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cut

a Considerjoints R E D and A From this
the zero force members are KH KR RH
EH CD and AB
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